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/*****************************************
* o] T2 o oF Z2IAYQLCt, %
* 24314 o8 1Y *

*****************************************/

#include <stdio.h>
int main(void)

{
printf("4e ");
printf("X WA Z2H");
return 9;

}
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/* BIR|ES 2I=jEtol &19] H°o|E %= O 18
*  2014E 384 20

=T L

*/

#include <stdio.h>

int main(void)

{

float a; // B |8@ B

printf("BERIEB : ");

scanf("%f", &a);

// 2] HiO| = HR|E * BIR|E * RIFFR(3.14)
printf("E'R|EO| %f2! #4°] HO| : %f\n", a, a * a * 3.14);
return 9;
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#include <stdio.h>
int main(void)

{

float a;
printf("EIR B : ");

// BR|E g

scanf("%f", &a);
// 2] HO| = BIR|E8 * E”‘I% *

printf("BIR|BO| %f2! #1°] HO|
return 0;

HO|E FYI= T2

217 (3.14)
: %fF\n", a, a * a * 3.14);
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/* BN RiEIEIO} 40| &

el

| -

201457 32 20

=11 X101 KA1
[ —1%

#include <stdio.h>
int main(void)

{

float a;
printf("BERE : ");

// BR|E g

scanf("%f", &a);
// 2] HO| = BIR|E8 * E”‘I% *

printf("BIR|BO| %f2! #1°] HO|
return 0;

HO|E FYI= T2

217 (3.14)
: %fF\n", a, a * a * 3.14);
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RIE

auto double inline
break else int

case enum long
char extern register
const float restrict
continue for return
default goto short

do if signed

sizeof
static
struct
switch
typedef
union
unsigned
void

volatile
while
_Bool
_Complex
_Imaginary

* inline, restrict, Bool, _Complex,

_Imaginary= C99°IA F=Tt
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RIE

Tzl 3.3

#include <stdio.h>
int main(void)

{
typedef int double; // % : double® int2 AP
int float; // &8/ : float® int ¥4 HE=2 M
return 9;

}
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/* BN RiEIEIO} 40| &

el
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201457 32 20

=11 X101 KA1
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#include <stdio.h>
int main(void)

{

float a;
printf("EIN|E : ");

// BR|E g

scanf("%f", &a);
// 2] HO| = BIR|E8 * E”‘I% *

printf("BIR|BO| %f2! #1°] HO|
return 0;

HO|E FYI= T2

217 (3.14)
: %fF\n", a, a * a * 3.14);
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T2 34

#include <stdio.h>

int main(void)

{
float a, b;
scanf("%f", &a);
b =a * 2.54;
printf("%f => %f\n", a, b);
return 0;
}
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#include <stdio.h>

#define INCH2CM 2.54
int main(void)

{
float length_inch, length_cm;
scanf("%f", &length_inch);
length_cm = length_inch * INCH2CM;
printf("%f => %f\n", length_inch, length _cm);
return 9;
}
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AN ZE= 155
ZT273 3.6
#include <stdio.h>
int main(void)

{
printf("%d %x %o\n", 19, 19, 19);
printf("%d %x %o\n", O@xlc, Oxlc, Oxlc);
printf("%d %#x %#o\n", 017, 017, 017);
return 9;

}
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#include <stdio.h>

int main(void)

{
printf("%.2f\n", 1 / 3);
printf("%.2f\n", 1 / 3.0);
return 9;

}
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#include <stdio.h>

int main(void)

{
printf("\a");
printf("I like\b\b\bove C.\n");
return 9;

}
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&M 4

- & N4 (Enumeration Constant)

- enuml=E TG AER|
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#include <stdio.h>

int main(void)

{
printf("%s\n", "M " 0" "Ys " "\"C\"!");
printf("%s\n", "\\n& \

NG A . \n");

return 9;
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. -r-'|=-7‘I(Punctuator)
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Z214 3.10

#include <stdio.h>
int main(void){

printf("9 +
printf("9 -
printf("9 *
pr1ntf("9 /
printf("-
printf("+9 =
printf("9 %%
printf("9.0
printf("9.0
printf("9.0
printf("9.0
printf("-9
printf("+9.6
return 0;

5
5
5
5

+

)
K

%d\n", 9 + 5);
%d\n", 9 - 5);
%d\n", 9 * 5);
%d\n", 9 / 5);
%d\n", -9);

d\n", +9);

= %d\n", 9 % 5);
0 = %f\n",
0 = %f\n",
0
0

= %f\n",
= %f\n",
%f\n", -9.0);
%f\n", +9.0);

5 9.0
5. 9.0
5. 9.0
5. 9.0

+ 5.0);
5.0);

/ 5.0);

e
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//’ 9 +5 =14 ‘\\
9 -5 =4
9 * 5 =45
9 /5=1
-9 = -9
+9 = 9
9 %5 =4
9.0 + 5.0 = 14.000000
9.0 - 5.0 = 4.000000
9.0 * 5.0 = 45.000000
9.0 / 5.0 = 1.800000
-9.0 = -9.000000
+9.0 = 9.000000

N /
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9™ D=1
m=a3 3

#include <stdio.h>

int main(void)

{
int a, b, ¢, d;
c =d=0;
a = ++C; // Cl8 gt°l o2l cofl HH ++X B
b = d++; // ClH™ ol ol doll ¥4 ++H§
printf("a = %d, b = %d, ¢ = %d, d = %d\n", a, b, ¢, d);
return 0;
}

48 kmh_at_SSU



ATEFN JHEXE st C Z=2_]cH

49 kmh_at_SSU



ol
]
=
H
H
&)

5t

ATENH HLXE #

()1{::7('

OHEK"

J

<K=, &=, "

-

, b=, >>

= k +

* —
- (F2) j *= k + 3;

2;
>

kK + 2;

j=3* k+ 3;

j* (k + 3);

J

>?

kmh_at_SSU

50



ADERN HEXE

213 312

#include <stdio.

int main(void)
{
inti=1, j
printf("i +=
printf("j *=
return 0;

AN O=_1=5

h>

2, k=3, m=4;
j o+ k : %d\n", i += j + k);
k =m+ 5 : %\n", j *= k = m + 5);
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